
SAP ABAP table GLE_STR_ECS_AGING_DATA {ECS Aging: All ECS Fields, Aging Cat., Number, Cr/Dr Total}

GLE_STR_ECS_AGING_DATA

COMPOUND_ERROR [CHAR (5)]

ACCOUNT_O [CHAR (10)]

TCUR [CUKY (5)]

ACCOUNT [CHAR (10)]

BSCHL [CHAR (2)]

HKONT [CHAR (10)]

VBUND [CHAR (6)]

CCINS [CHAR (4)]

CCWAE [CUKY (5)]

MERCH [CHAR (15)]

LOCID [CHAR (10)]

CCTYP [CHAR (2)]

WAERS [CUKY (5)]

GLE_CMP_ERR

MANDT [CLNT (3)]

CMP_ERR_CAT [CHAR (5)]

 GLE_STR_ECS_AGING_DATA-COMPOUND_ERROR = GLE_CMP_ERR-CMP_ERR_CAT 

0..N

0..N

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 GLE_STR_ECS_AGING_DATA-ACCOUNT = SKB1-SAKNR 

0..N

0..N

 GLE_STR_ECS_AGING_DATA-ACCOUNT_O = SKB1-SAKNR 0..N

0..N

 GLE_STR_ECS_AGING_DATA-HKONT = SKB1-SAKNR 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]
 GLE_STR_ECS_AGING_DATA-VBUND = T880-RCOMP 0..N

0..N

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]
 GLE_STR_ECS_AGING_DATA-BSCHL = TBSL-BSCHL 0..N

0..N
TCCL

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 GLE_STR_ECS_AGING_DATA-LOCID = TCCL-LOCID 
0..N{0,1}

TCCM

MANDT [CLNT (3)]

MERCH [CHAR (15)]

 GLE_STR_ECS_AGING_DATA-MERCH = TCCM-MERCH 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 GLE_STR_ECS_AGING_DATA-CCWAE = TCURC-WAERS 

0..N

0..N

 GLE_STR_ECS_AGING_DATA-TCUR = TCURC-WAERS 

0..N

0..N

 GLE_STR_ECS_AGING_DATA-WAERS = TCURC-WAERS 

0..N

0..N

TVCIN

MANDT [CLNT (3)]

CCINS [CHAR (4)]

 GLE_STR_ECS_AGING_DATA-CCINS = TVCIN-CCINS 

0..N

0..N

TVCTY

MANDT [CLNT (3)]

CCTYP [CHAR (2)]

 GLE_STR_ECS_AGING_DATA-CCTYP = TVCTY-CCTYP 

0..N

1


